
Example 1: 
 
 
The effect of a single 600 mg dose of vitamin C versus a sugar placebo on the 
muscular endurance of fifteen male volunteers (19-23 years old) was evaluated. 
Three initial maximal contractions were performed for each subject, with the 
greatest value indicating maximal grip strength.  
 
Ho = There is no statistically significant difference between vitamin C and a 
sugar placebo on muscular endurance. 
Ha = There is a statistically significant difference between vitamin C and a sugar 
placebo on muscular endurance. 
 
 

A.​ A Is the data continuous?  Yes 
B.​  Amount of data? 30 data points 
C.​ Looking for differences or correlations?  Differences (you only have two 

categories - Vitamin C or not) 
D.​ So, a t-test would be best 

 
​ ​ ​ Results: 

 



What you would put in your lab report: 
  

Stat Test Used Stat value Critical value at p=0.05 Significance 

t-test 0.550 2.048  None  

 
The results of the t-test show that the results of this experiment are not significantly significant because 
the t-value was well below the critical value at p=0.05.   The suggests that vitamin C does not affect 
muscle endurance and we accept the null hypothesis…..(here you would tie it into other pieces of 
evidence - graphs, averages, SD) 

 
 
 
Example 2: 
 
A farmer wanted to see if there was was a change in milk production over 13 months.  The 
farmer had changed the diet of his cows.  
 
Ho = There is no significant correlation between milk production and the diet of of the cows. 
Ha = There is a significant correlation between milk production and the diet of of the cows. 
 
 

 
 

1.​  Is the data continuous?  Yes 
2.​  Amount of data? 13 data points 
3.​ Looking for differences or correlations?  

Correlations (does the food affect milk 
production?) 

4.​ So, Spearman's rank would be best, but 
we need to check if it is monotonic data: 

  
​ Yes, it is.  The data shows an upward positive 

trend. 
 



Results: 

 
 

Stat Test Used Stat value Critical value Significance 

Spearman’s 
Rank 

0.981 p=0.05 - 0.587 
p=0.01 - 0.727 

Highly 
significant  

 

The Spearman’s rank test was used because the farmer was looking at how the diet would affect the 
amount of milk produced.  Graph 1 shows that the data is monotonic, also supporting the use of 
Spearman’s rank. The results of the Spearman’s rank test show that the data was highly significant at 
p=0.1 as the rs value (0.981)was higher than the critical value at p=0.01 (0.727).  So, the null hypothesis 
is rejected and we accept the alternative hypothesis…..(here you would tie it into other pieces of evidence 
- graphs, averages, SD) 

 
 
 
 
 
 



Example: 

 
 

 

 


